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Topic:- General Knowledge

1)
Question Stimulus :-

General Knowledge

Who was the first women chief minister of Madhya Pradesh?/ﬂ?m;lﬂ"\’l Gl II'%FIT
@1 o ®1 A2

¢ Meera Kumar/ Iﬁ'ﬂw

®* Sushma Swaraj/ UHT WIS

e Uma Bharti/ 34T HRdl

e Sarla Grewal / I3dT dard
Correct Answer :-Uma Bharti/ 3SHT HRRdl
2)
Question Stimulus :-

General Knowledge

Which state is to the west of M.P.?/H. Y. & ufiw § S19-91 I %?
* Goa/ T
® Gujrat/ ToRRTd
o Uttar Pradesh/ Iﬁﬂm
®* Maharashtra/ HgRTY
Correct Answer :-Gujrat/ oRRTd
3)
Question Stimulus :-

General Knowledge
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Which of the following district was not added to Madhya Pradesh in

1956?/f% # | oI-41 forar 1956 # Aeauer | A wfera g U2
* Bhopal/ HIUd
e Indore/ ¥R
e Gwalior/ TR

e Nagpur/ ATYR
Correct Answer :-Nagpur/ dTYR
4)
Question Stimulus :-

General Knowledge

Who was the first Vidhan Sabha speaker of M.P.?/H. U. &I faum= 94T & uyH
U P 4?2

P Kunjilal dubey/ U. $eftara gd
Tejlal Tembhare/?ﬁl?ﬂ?l é‘q‘lﬁ

Gulsher Ahmad/ Ta=R 38HE
® Srinivas Tiwari/ fifarg faarst

Correct Answer :-P Kunjilal dubey/ U. $eilard gd

5)
Question Stimulus :-
General Knowledge

Which among the foIIowmg is The Business capital of Madhya Pradesh?/

e faf@a & @ v 9 sqaRe e #19-39t 32
e Bhopal/ Hiutd@
 Indore/ ¥R
e Gwalior/ TIfeRR
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® Jabalpur/ SIdceiqR
Correct Answer :-Indore/ 3R
6)
Question Stimulus :-

General Knowledge

Which of the following is a District of Madhya Pradesh?/ {9 & @ #19-91
HYHUSY BT U o1 g2

®* Agar Malwa/ 3R HTddI

e Mhow/ Hg

e Pipariya/ fuafar

e Budhni/ g
Correct Answer :-Agar Malwa/ 3R HTcdl
7)

Question Stimulus :-

General Knowledge

State Tribal museum is situated in: /< ST SIETad R 8-
e Bhopal/ viare o
e Indore/ 'Q"ca?ff
e Jabalpur/ SR H
e Guna/ 1'[-'-|Tff
Correct Answer :-Bhopal/ viarer A

8)
Question Stimulus :-

General Knowledge
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Old Vidhan sabha in Bhopal is also famous as which of the following name?/ viure
# fR@ R fauryr ok e A 9 foerma 82

e Edward Hall/ TSds gid

e Minto Hall/ ﬁ'ﬁﬁﬁ

e Indira Hall/ gfezT 8@

e Gandhi Hall/ i< gfa
Correct Answer :-Minto Hall/ f¥el gf@
9)
Question Stimulus :-

General Knowledge

Which of the following is present in Mandu?/ 9 & & uig ¥ w1 Ry 82
e Asharfi Palace/ 3IRWBI Hed
e Roopmati Palace/ ¥Uddl Hgd
e Jahaz Palace/ GiglSl Hgd
* All of the above/ SWiad a4t

Correct Answer :-All of the above/ SWRIad It

10)
Question Stimulus :-
General Knowledge

Ahilya Bai belongs to which of the following dynasty?/ 3ifgear ag Ffa # &
e Trodw ¥ 9 82

Holkar/ gle?
Bhopal/ yiure
Scindia/ Riftmar
Tripuri/ BgH
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Correct Answer :-Holkar/ Bieh?

11)
Question Stimulus :-
General Knowledge

State planning Commission office of M.P. is situated in which building?/

A.Y. § I TISHT TN BT Py fod Ha- A fRUd 82

e Rajbhawan/ ITSTHdA

e Pustak Building/ ¥d® Hdq

e Vallabh Bhawan/ decddH Hdq

e Vindhyachal Bhawan/ fdsamaa Haq
Correct Answer :-Vindhyachal Bhawan/ fdtarea Haq
12)
Question Stimulus :-

General Knowledge

Jabalpur is famous as the capital of Madhya Pradesh?/ SId¢iqR
TS P ISYTL & ¥U | uRiE g

e Business/ AU

e Music/ §ifid

° Tourism/tl'qu
* None/ Hﬁ%ﬂﬁ

Correct Answer :-None/ &g gl
13)
Question Stimulus :-

General Knowledge

Which of the following city is famous as Holy city of Buddhist? /{9 # & ®I9-1T W&
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915 o F TP ufdT e & ¥ A faerd 82
Sanchi/ |4t

Khajuraho/ @SRT8!

Vidisha/ fafe=m

Sagar/ 9U'R

Correct Answer :-Sanchi/ Il

14)
Question Stimulus :-

General Knowledge

Ami Kamni is associated with which sports?/ 3t srHA frg @a @ 95 %?
* Softball/ |iwdld
®* Snooker/ HdH
® Wushu/qx[

e None of these/ 394 A ®Is T8I

Correct Answer :-Snooker/ Hd

15)
Question Stimulus :-
General Knowledge

Tawa Canal is present in which of following district?/ da1 /g3 719 # ¥ f&g
e § fRE 22

e Hoshangabad/ ST aTG
e Bhopal/ viaret

e Guna/ T

° Datia/EﬁITIT
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Correct Answer :-Hoshangabad/ BIXRTIaTG

Topic:- General Hindi

1)
Question Stimulus :-

"3gHA’ TH F AR YT BT A1 AT 32
. o
o M
* IqHE

T 9 P TR

Correct Answer :-faqag

2)
Question Stimulus :-
Hindi
T 9 3Hfte U | 91 J6E 8-
* 3MER
* 3MER
o YT
* WER
Correct Answer :-3HGR
3)

Question Stimulus :-

Hindi
T5d oG BT I PIfeTu|
* TP

® diy

GET IT ON
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o U
°
Correct Answer :-sd
4)
Question Stimulus :-
Hindi
& 9 fora wreg &Y 79T U A g8 72

* 3gH
Correct Answer :-%urq
5)
Question Stimulus :-
Hindi
&=t quiwTen A oAl Ft H= feaet 82
e 32
* 34
e 33
* 36
Correct Answer :-33
6)

Question Stimulus :-

Hindi

GET IT ON
Google Play
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fra e & freft oo Y adh g B, =9 SR

Correct Answer :-Hgd
7)
Question Stimulus :-
Hindi
e faee & @ Y a1 F1 997 BIfve?
* TP Fdl @I UTAT & 330
* [dl I HIAT & 33T TH|
* Hdl Bl TP U & 3TZTI
o Tdl ®I AT TP o 3MSU|
Correct Answer :-%dl 31 T Aol & 35T
8)
Question Stimulus :-
Hindi
fafafea ol o @ Wdg /e a6 &1 994 |
* WIUHR & AHEd B
* J3F I% U9 UK} g gBI FRI|
o T 919 AN 3R fad T HR US|
o gardf gufea ot firer w16t g9 WNfgwl

Correct Answer :-3@ a@ 99 daR g got grfl|
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9)

Question Stimulus :-

Hindi

fFafafea aa & Y@ifed s & fad W &1 999 % R ®FE uikl
T ifee WSH e IRy, ieiF IR & RiT eifers g1

* FH q PIS Tal
Correct Answer :-aHfRi®

10)

Question Stimulus :-

Hindi

Uy & Iss- W & fawped & @ T8l orf-Ug &1 997 Bifvm)
aRuf-aRfor

o Roft-HiPT
o HHT-AIPT
. A
o 1
Correct Answer :-Hi&1-gd

11)

Question Stimulus :-

Hindi

Rt ardl sudt Ha | SEEIL R

GET IT ON
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=Y arES

o1 ae

o WY dqEID

fRea arae
Correct Answer : -9 9&$
12)
Question Stimulus :-
Hindi
“rYTarei’ foe i &1 3gTeRur 82
o {dwR
o U WR
* U] TR
o 3 W
Correct Answer : -0 W@¥
13)
Question Stimulus :-
Hindi
Frfafead weel § $i9-a1 9g6if’’ TURT &1 ISevT A8 82
o B
o fageR
* TS
o Prya
Correct Answer :-fAyaq

14)
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Question Stimulus :-
Hindi
“TIRUT HHA G HIIa” § TR €S 8-
* IUHH
* IUNY
* YR VG
* IEF S
Correct Answer :-398g

15)

Question Stimulus :-

Hindi

fra & @ fra e & 9t v s ¥ vafgarst 82
* §alY, 9FR, X, 9¥M

° mrﬁ'ﬂlmywﬂh

o Jef, TSWI, a7, T

e IR, R=y, Ag, =M
Correct Answer :-3igft, Ry, Iaft, #gmfe

Topic:- General English
1)

Question Stimulus :-

English

Choose the option which can be substituted for the given sentence.
One who is unable to pay his debts.

® Wealthy.

® Successful.
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® Bankrupt.

® Solvent.
Correct Answer :-Bankrupt.
2)
Question Stimulus :-
English
Out of the given options choose the one with the correct spelling.
® Judgement.
® Judgment.
® Judgemant.
® Judgament.
Correct Answer :-Judgement.
3)
Question Stimulus :-
English

Find out which part of the sentence has an error. If there is no error, mark
your answer as ‘No error’.

The enemy has received (a)/ many information’s regarding (b)/the
activities of the army (c)/of our neighboring countries. No error (d).

* (a)
* (b)
* (c)
* (d)
Correct Answer :-(b)

4)
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Question Stimulus :-

English

Arrange the following sentences to form a logically coherent paragraph.
A. linked with lack of self-confidence.

B. Basically, for a child to understand a language,

C. Stammering is a habit disorder

D. there are four stages.
e CBAD.
® CABD.
e BCDA.
* DACB.
Correct Answer :-CABD.
5)
Question Stimulus :-
English
Complete the following sentence by choosing the correct form of verb.

He has _____ a lot of courage during his times of adversity.
® show
® shows
® showing
® shown

Correct Answer :-shown

6)
Question Stimulus :-

English
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Complete the following sentence by choosing the correct conjunction.

Tina was unwell, _  she went shopping with her friends.
® and
® so
* yet
® therefore
Correct Answer :-yet
7)
Question Stimulus :-
English

Complete the following sentence by choosing the most appropriate word
given below:

Would all those in favour please their hands?
® rays
® raise
® raze
® race
Correct Answer :-raise
8)
Question Stimulus :-
English
Complete the following sentence by choosing the correct preposition.

All the boys quarreled themselves.

® among

® between
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® across

® besides

Correct Answer :-among

9)

Question Stimulus :-

English

GET IT ON
Google Play

Complete the following sentence by choosing the correct article.

I saw

® the

one-eyed man yesterday.

® No article required

Correct Answer :-a

10)

Question Stimulus :-

English

Complete the following sentence by choosing the correct determiner.

I requested him to bring me books.

® |ess

® J|jttle

®* few

® 3 few

Correct Answer :-a few

11)
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Question Stimulus :-
English
Complete the following sentence by choosing the correct Phrasal Verb.

While giving evidence in the court, she .
® broke up
® broke into
® broke down
® broke off
Correct Answer :-broke down
12)
Question Stimulus :-
English

Tick the option that has the same meaning as the word underlined in the sentence.

One must try to overcome adverse circumstances.
® favorable
® unfavorable
® climatic
® pleasant
Correct Answer :-unfavorable
13)
Question Stimulus :-
English
Tick the word that is opposite in meaning to the word that is underlined.

Shakespeare was a prolific writer.

® productive
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® unproductive
® popular
® famous
Correct Answer :-unproductive
14)
Question Stimulus :-
English
Complete the following sentence by choosing the correct modal.

She works hard so thatshe____ pass.
® might
®* may
® should
® shall
Correct Answer :-may
15)
Question Stimulus :-
English

Complete the following sentence by choosing the correct order of
pronouns.

will watch movie tonight.

® You, Sonal and I

Sonal, You and I
® I, You and Sonal

e I, sonal and you

Correct Answer :-You, Sonal and I
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Topic:- General Computer Knowledge

1)
Question Stimulus :-

Computer

Drum Pen is a type of-/SH o+ Th YPR BT %I
® Printer/ fiie=
® Plotter/ wWieR
* Scanner/ ¥R
* Keyboard/ FI-a18
Correct Answer :-Plotter/ Wic3
2)
Question Stimulus :-

Computer

The process of verification for ‘Log-in-name’ and ‘Password’ is-/ @-§9-4H dYT ‘UTHds’ &
T @1 ufshar 8-

® Logging in/ E"I"ﬁi’ﬂ'&"-'-l

* Certification/ GféfhbM

e Authentication/ 3fdfepa=

® Configuration/ HI_FRIA
Correct Answer :-Authentication/ 3ifdfes3
3)

Question Stimulus :-

Computer
Powerpoint is a-/9TaRuisc g Udh-

e Word Processor/ 98 MAIR
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e Spreadsheet Program/ SIS W™

® Presentation Package/ Uolemq Ohwl

® Database Management Package/ 3R AAeHE T
Correct Answer :-Presentation Package/ USiexH 1%
4)
Question Stimulus :-

Computer

Which of the following is the physical path over which a message travels?/
ﬁmﬁ@faﬁqwmﬁmwiﬁm& Tariyd (1fa) g 82

° Protocol/tﬁaﬁﬁ

o Signal/ﬁl’ﬂﬁ

* Medium/ Hifsan

® Pathway/ q1Y-q
Correct Answer :-Medium/ Hifsaw
5)
Question Stimulus :-

Computer

Which of the fO"OWiI;% refers to the physical arrangement of a network?/ 9 & ¥ ®9-41
Acad 1 Wifaw srawar o1 guifar 82

* Data flow/ 3¢ &l

® Mode of operation/ s 3P ATIRRE
* Topology/ crularsit

® None of these/ ?El'ff J ﬁi E

Correct Answer :-Topology/ ciUi@rsit

6)
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Question Stimulus :-

Computer

Protocol suite for the Current Internet is-/ qaHH saﬁz ® ﬁl‘l;r mMelhid Iqc %.
e TCP/IP/ ERiidl/ 3t
* NCP/ TiIUY
* UNIX/ g

e ACM/ wHluH
Correct Answer :-TCP/IP/ ¢Rftdl/ansdt

7)
Question Stimulus :-
Computer

layer is responsible for ‘process to process’ delivery?/ R

TR ¢ e RS ¥ fe Rrder a1 82 S
* Data link layer/ S¢T féi® TR
* Session layer/ I AW
* Transport layer/ TOUIE dWR
* Network layer/ A¢a® TR
Correct Answer :-Transport layer/ TRIUIE daR

8)
Question Stimulus :-

Computer

Logical design of database is known as-/ ST & difored fSTsH & Had -
® Database schema/ 3clad ®U3El
e Database Instance/ 3¢9 %Y

® Database snapshot/ a1 AuNiie
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Database design/ LG R | %Vﬂ?ﬁ

Correct Answer :-Database schema/ S¢dd U@l

9)

Question Stimulus :-

Computer

Which of the following can be taken as a primary key?/ g A @ s9-a1
WIS Poil & w0 o Roran o Jaar 82

Name/M™H

Id/3msst

Street/ds®

Department/fSurdde

Correct Answer :-1d/3ss!

10)

Question Stimulus :-

Computer

SDL stands for-/ THIITA &1 YUl =7 &-

Storage discrete localisation/ TR Wm
Storage definition localisation/ WY SfthzE ?ﬁ%ﬁﬂgﬁ"«’ﬁ
Storage definition language/ wRY 3Pz d[w

Storage discrete language/ Wi f3f8pe drdw

Correct Answer :-Storage definition language/ wRe 3fpARH d[dw

Topic:- General Science

1)

Question Stimulus :-

General Science
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What is PH value of human blood?/ A4 Iad &1 PH a9 fd=r giar 22
7
® 7.2
® 7.4
e 7.8
Correct Answer :-
7.4
2)

Question Stimulus :-

General Science

In a human body, the basic building block are-/ g [WR | HT AT HD EH'TI'sc %—
® Muscles/ |1
* Nerves/ T
* Cells/ SI&A
® Bones/ F%‘lﬁ
Correct Answer :-Cells/ ®IfR@™

3)
Question Stimulus :-

General Science

Approximately how much time does a Sun ray take reaching Earth?/ '\‘]:!f | qzaﬁ GEaR'CIR
H TG T T 32

® 400 seconds/ 400 TS
® 500 seconds/ 500 9HS
® 600 seconds/ 600 %S

e 700 Seconds/ 700 ¥&s
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Correct Answer :-500 seconds/ 500 ¥&g

4)
Question Stimulus :-

General Science

Which among the following molecule is rarely found in universe but abundant on earth?/

& & o1 a1 uerd siafver  Sufua T8 8, g gt wR ygR wEn A @2
* CO,
* 0,
®* CHy
* He
Correct Answer :-0,
5)
Question Stimulus :-

General Science

Which of the following Kingdom represents bacteria?/ g & Q FF-91 S aFERar &1
wfafafira var 32

® Monera/ NI

* Protista/ Wifeze

® Protozoa/ PICEIR)

* Metazoa /A3
Correct Answer :-Monera/ HI-RT
6)
Question Stimulus :-

General Science

Which among the following laws of Physics explain about the elliptical orbits of

planetary bodies?/ g & ¥ #9-u1 Wifod fAaw ug-Nvsl & wRaaureR wa #) ueRia Har g2
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* Newton's Law/ <ge+ &1 fFqq

Kepler's Law/ $UeR &1 a9

Snell's law/ &d &7 g9

* Coulomb's law/ Far &I fAad
Correct Answer :-Kepler's Law/ $UTR &1 FgH
7)
Question Stimulus :-

General Science

On which of the following the weight of a person will be minimum?/ fada W’W
fRT BT UR gAaH gRIT?

® Venus/ P

® Mars/ HId U8

® Moon/ dgHI

® Mercury/ URT
Correct Answer :-Moon/ <gHI
8)
Question Stimulus :-

General Science

The "Planetoids" are located between which of the following?/ 3iaR& & «gsug”, Ffad A
frq & diw Sufd g 82

* Mars and Jupiter/ 79 3¥ gg&ufd
® Saturn & Jupiter/ = MR T@‘Wﬁr
® Mercury and Venus/ §Y 3R sk

* Earth & Mars/ gt iR WraT W8

Correct Answer :-Mars and Jupiter/ #7d 3i¥ gg&ufa
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9)
Question Stimulus :-

General Science

Deficiency of Tocopherol leads to sterility in mal.es _and females. The popular word for
Tocopherol is ?/ SBIBRIA B FHI TR T AT F TYIHAT SUT B TDd! gl SDITBIId Dl
HTHTIG: ST ST 21

* Vitamin B3/ faerfia §i3

® Vitamin K/ Qo= &

® Vitamin E/ ﬁETﬁFri

® Vitamin C/ faerfe=
Correct Answer :-Vitamin E/ faerfi= §
10)

Question Stimulus :-

General Science

Water at 3.98° C has /A 3.98°CHI IR ____ Frar gl
® minimum density/ gAdH Y9d
* maximum density/ HalfiI® g9«
®* maximum weight/ alfie 4R
® None of these/ 3=|1?r I ﬁg E

Correct Answer :-maximum density/ Jaifi® g9

11)
Question Stimulus :-
General Science

Which among the following is edible?/ % ¥ $9-91 @H 97Y 8?2
e Sodium Bicarbonate/ JIf$9H FSHEIHC
e Sodium Carbonate/ Jf3UH HEHe
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* Sodium Dioxide/ WIf$dH TFHTFES

¢ Sodium Hydroxide/ HIf$uq gESidaISS
Correct Answer :-Sodium Bicarbonate/ TIf$UH SgHEHe
12)
Question Stimulus :-

General Science

What does contain "Red Data Book”? / ” ¥S Sel ge”’ o a7 g 82
* Astrology/ @ WA
® Endangered wild plants, animals/ &l g4 914 UTeU g E4d| ﬁ?ﬁ
* Communism/ JHTSIAG
* Endangered Forests/ QWU S
Correct Answer :-Endangered wild plants, animals/ @ 8 aIdl UTqU d Sig &I Ja
13)
Question Stimulus :-

General Science

In context with Spience and Technology development of China, what is Tianhe-I?/ ICEIRKC]
Menfe & faem & 99 &1 foam-1 T 82

® A satellite/ Td 3UUg

® A space station/ T& 3iaiRel ©IH

® A super computer/ Th U Y

® A proposed GPS/ U® YdIfdd Sidied
Correct Answer :-A super computer/ T U HHH
14)

Question Stimulus :-

General Science
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Which an%‘long the following can be measured with Anemometer?/ QT-ﬂ'Fﬁ'lﬂE? CRECR )
HIYT SITdT 8?2

® Water Velocity/ UTT &1 T

® Wind Velocity/ Ua= &T o

® Relative Humidity/ TTUE 3Msam
* Absolute Humidity/ fRUe&r amsar

Correct Answer :-Wind Velocity/ 9a= &T 7

15)
Question Stimulus :-
General Science

Which is the most abundant metal in the Earth's crust?/ qzzﬁ P! ag W HIH-
< u1g waifue urft Wt 82

e Silicon/ faferea
° Iron/FﬁET

* Aluminium/ TIfIfIH
® None of these/ Eﬁ J ﬁ'&f E

Correct Answer :-Aluminium/ TAaq

Topic:- General Reasoning

1)
Question Stimulus :-
Logical Reasoning

In the following question, there is a certain relationship between two given words on
one side of :: and one word is given on another side of :: while another word is to be
found from the given alternative, having the same relation with this word as the words
of the given pair bear. Choose the correct alternative./=d fau e yy # fag (: ) P s AR &
U< fou e &1 o9 omud § te UeR A $IE IR €, 319 3l UBR &1 g g (i) ¥ i ok fau
T U 9T I9& A few e fawedl # 4 fredl v ug & o A +ff 21 38 fapeu &1 ug IR 21 e vy

BT 999 B

Manipur : Imphal : : Rajasthan : ?/ GfOTqR : SHId : : IR : ?
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® Udaipur/ 3¢d4R

® Ajmer/ 3R

® Jaipur/ SIOYR

® India/ YRd
Correct Answer :-Jaipur/ SR
2)
Question Stimulus :-

Logical Reasoning

Pointing towards a boy, Sonam said, “"He is the son of the only sister of my father”. How

is the boy related to sonam?/ Wﬁ@ﬁéﬁ?mmﬂwe{ﬁb “ﬁﬁ%ﬁ'ﬂﬁ%ﬁﬁ?ﬂ
g &1 del 87| ASPI, J-H I 59 yoR Jafta g2

® Nephew/ HdlelT

® Son/ YA

® Brother/ ‘1-I1§

® Cousin/ BT
Correct Answer :-Cousin/ e
3)
Question Stimulus :-

Logical Reasoning

What is the angle traced by hour hand in 20 minutes?/ 20 fiFe # ¢ ®t g3
fa-T ®iur IR

* 20°
* 10°
® 25°

e 75°
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Correct Answer :-10°

4)
Question Stimulus :-
Logical Reasoning

If day before yesterday was Monday, when will be Saturday?/ af¢ did §¢ ®a & ugan arar
&1 Aiwar 1, 91 AFaR &4 ghm?

® Tomorrow/ 3T 91l o

® Day after tomorrow/ 3T a1l A P dTq drdr ﬁ"‘-f

® Two days after tomorrow/ 31 91 $d & ol faT 91

® None of these/ 3=|ﬁ J ?ﬁi L
Correct Answer :-Two days after tomorrow/ 39 a1d &d & ¢l faT 91
5)
Question Stimulus :-

Logical Reasoning

From Parul’s home, she goes to her school which is 10 kms towards north. From there,
she turns right and goes 15 kms. After that she again turns right goes 5 kms and then
turns right and goes 15 kms. Now, how far is she from her starting point?/ Ursd 3T R A
d ATt g o 10 fhHl IIR Y 3R 31 fihe 98 981 @ a¢ gedt 8 ok 15 ftl. @t 81 59 91¢ 98 I
geax 5 ! wrdt 8 o R ae gear 15 & wrdl 31 3@ 97 oM wRfle fag A fbait v 82

® 10 kms
e 25 kms
® 15 kms

® 5 kms
Correct Answer :-5 kms
6)

Question Stimulus :-

Logical Reasoning
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In the following options, three of them are alike in a certain way and thus form a group.

Which one does not belong to that group?/ fafeeaai 4 A d9 TP fAfda 9% 9 9= % 3R
3T T JYE 991d 31 SIF-TT1 TP, 39 I 4 JHEfd 8l 82

® Black : 25
® Orange : 36
® Blue: 12

® Magenta : 49

Correct Answer :-Blue : 12

7)

Question Stimulus :-

Logical Reasoning

In the given arrangement, which is the 4th Ietten:/digit/symbo! to thg right of the 14th
Ietter[digit/symbol from right end?/ & TF&‘ qaqXT ﬁ, qq BR ¥ 149 3eR/ 3w /g & qid T 441
&R/ 3/ FRrg B 41 72

47I?2)12T@#S5PQ% U&XC

° @
Correct Answer :-#

8)
Question Stimulus :-
Logical Reasoning

In a certain code language SHEEPS is written as TGFDQR , MOULDS is
written as NNVKER, then how will ORANGE be written in that code?/ it
% HTT H, SHEEPS &) TGFDQR for@d § , MOULDS &t NNVKER for@d 8, 39 ®c
H# ORANGE & &9 fordt?

* PQBMHD
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® PSBOHF
* PTDRML

* QTCPIG

Correct Answer :-PQBMHD

9)

Question Stimulus :-

Logical Reasoning

Which of the answer figures is exactly the mirror image of the given figure when the
;n;%r%r%e;d at PQ?/ &1 3t IR apfd gul =u I &t Wi anpfa o1 gdur wfafara 81 1@ gdur pQ

Question figure/ U4 3THfd

A

Pmﬁmq

Answer figure/ 3X Gﬂ?ﬁf

WA

2%

{di

* (a)
* (b)
* (c)
* (d)
Correct Answer :-(a)

10)
Question Stimulus :-

Logical Reasoning
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What will come in place of the question mark (?) in the following number series? /

Fafafea J=m el d yyares e (?) & M 1R T TA?

1, 2, 5, 10, ?, 26, 37
e 15
e 12
e 17
e 24
Correct Answer :-17
11)
Question Stimulus :-

Logical Reasoning

If the first and second letters of the word PREPARATIONS were inter-changed, also third
and fourth letter, fifth and sixth letter and so on, then which letter would be ninth from
left end?/ g WG PREPARATIONS ¥ Ugd 3R GO¥ &R $I 3T H Iga fordm oY 3R 53t @g
T 3R DY &R P, U 3R Bed &R P 3N AT a8 A 3, ) I1¢ DR T 93T &R B AT BN ?

e 0

o I

e A

e T
Correct Answer :-0
12)
Question Stimulus :-

Logical Reasoning

Three positions of a dice is given. Which is the number opposite to 22/ T& Ui &I o=
fRufeat § wit 1 2 ¥ fRAudia 17 a1 8w Fm?
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°
S U1 =

e 4
Correct Answer :-5

13)
Question Stimulus :-
Logical Reasoning

Seven children A, B, C, D, E, F, G are standing in a queue from top to
bottom. E is at fifth place. Only C is between A and B. G is at bottom. B is
three places after F. What is the position of D from top?/ JdId T A B, C, D,

E, F, G & Ufed # SR 4 19 @S ¢ 81 E Uigd ®IMF W g1 %94 C, A 3R B & dta &
%leﬁ#ﬁ%lB F % @ = 91 §1 $UR | D ST I 1 82

® Fourth/ T
e Sixth/ ®eal

® Second/ gl
e Last/ 3ifaH

Correct Answer :-Sixth/ 3eal

14)
Question Stimulus :-
Logical Reasoning

DIRECTIONS/ﬁi"\’I: In the question below are given two statements followed by two
conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance from commonly known facts. Read both the conclusions and
then decide which of the given conclusions logically follows from the glven statements./
i 24 T uy & G FUF iR ITF AR & fAspd 1 30k 11 AT U g1 U AT U wyAl @) g wIEAn
Bl WA & 3 gdga af | frgd ydid @1 ﬁﬁwﬁﬁw@qsﬁ?ﬁﬂmm%ﬁqmﬁwﬁﬁq

T FYAT BT qb JG U A I HIT g

Statements/PY:
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All roses are flowers./ 9 Teld Pl gl
All flowers are trees./ It Pl ﬂ%’ %'I
Conclusions/fpd:

I. All trees are roses./ i Ug RGIC) gl

II. Some flowers are roses./ P9 d dld gl

* If only Conclusion I follows/ af¢ %ad sy I SFHRUT T 3

® If only Conclusion II follows/ tlﬁ *qd ey 11 SITHRUT HIdT %

* If either Conclusion I or II follows/ df¢ a1 df fAswd I a1 1T SFIHROT HXaT &

* If both Conclusions I and II follow/ af¢ g fAswd 1 3R 11 SHERUT B g
Correct Answer :-If only Conclusion II follows/ ﬂﬁ *ad ey 11 ST HdT %
15)

Question Stimulus :-

Logical Reasoning

Out of the five figures that follow, you are to indicate which figure will best represent

the relationship amongst the three cIasses/ﬁ'H & TF&F i Gﬂ?ﬁrﬂ‘f H 339 GﬂTﬁl G| i-[ﬁ'a, il
g9 9 Tt & g I 3 g=ifar gl

Colours, Yellow, Blue/ 1, Hidr, -iar

@@O

(1L (111}

(1v) (V)
* (1)

¢ (II)

* (III)

* (V)


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

24

Correct Answer :-(III)

Topic:- General Maths

1)

Question Stimulus :-

Maths

GET IT ON
Google Play

In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/

TP e § Th BT Uqdd dat 3qar & forg

1 3% YTYd BT @ 3R

Tad 3qaR &

1T 1/4 3F 9 53 9 ¥1 af} S99 T 70 UM g9 U 3R 40 3iF wiga 63,

394 fhaq U= A&t g fhae

. 42
. 46
e 52

® None of these/'ﬁﬁ I ?ﬁ'&" E

Correct Answer :-46

2)

Question Stimulus :-

Maths

U H qaafeyd de |
13 27 39 51
° 18<EIE~ <45<E~I}
27 13 39 51
° 36<18<45< =11
13 27 51 39
o 1B <: 36 <: =1 <: 45

1E|
Arrange the fractions ¢,

27 39 51

38, %5 &0 in ascending order. /i 18

®* None of these/?g_rl'er' I ﬁi T8l

13

27

51

3

Correct Answer :-1¢ < 3 £ 80 g %5

"‘? 3% 51

| 36 45 60 aﬁ- Gﬂﬁﬁ
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3)
Question Stimulus :-
Maths
In a forest which has only deer and humans. There are 80 heads and 230
legs. How many humans are there? /U&% TS ® GI?TW f%TUT 3R {99 ?I Elﬁ
80 RX ¥ 230 W &1 8T fha AIYH &2
e 40
e 25
e 35
e 45
Correct Answer :-45
4)
Question Stimulus :-
Maths

A salesman bought toffees at 7 for a rupee. How many toffees for a rupee

he must sell to gain 40%?/ T qAURT 1 ¥4 & 7 STGIAT @Gl 71 98 1 ¥Ud |
fpa-t cTwiar 9 a1fs 40% T @Y B1?

3
* 4
5
e 6
Correct Answer :-5
5)
Question Stimulus :-

Maths

A fruit seller had some bananas. He sold 20% bananas and still has 128
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bananas. How many bananas he had initially?/ wwm%wmﬁ
?ﬁl?ﬁ 20% Fa 99 2T 3R BT +ft Sa& U 128 Fal 99 gU B 1 IHP U FHITd § fpa
?

e 156
e 160
e 176
* None of these/3H | ®Ig -Tgl

Correct Answer :-160
6)
Question Stimulus :-

Maths

At what rate of compound interest per annum will a sum of Rs.1200
become Rs.1323 in 2 years?/ f&a+ ufazia aiftfe ashgfs qam< #1 &% & $.1200,
2 99 # $.1323 Bl SR

. 6%
. 4%
e 50/
e None of these/STH ¥ ®I§ gl

Correct Answer :-5%

7)
Question Stimulus :-
Maths

Rajesh and Shakshi are partners in a business. Rajesh invests Rs.35,000
for 8 months and Shakshi invests Rs.42,000 for 10 months. Out of a profit
of Rs.31,570 Rajesh’s share is (in Rupees). /S 3R reft Uh qqqg H
TR €1 I 8 W ¥ RIT $.35000 FIAT ST 2 3R Fieh 10 WER ¥ R
¥.42,000 a3 H3dt 31 $@ @Y ¥.31,570 ¥ IO H7 FHA1 (IU H) g:-

e 12,628
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e 14,060
* 16,162

* None of these/FI'ff 3 aﬁi G

Correct Answer :-12,628

8)
Question Stimulus :-
Maths

A boy rides his bicycle 10 km at an average speed of 15 km/hr and again
travels 15 km at an average speed of 10 km/hr. His average speed (in
km/hr) for the Entire trip is:/U® ds®T 15 fpHl /o &t nfa & 10 fHft agea A wmar
%ﬁvgq: 10 fft /€ ot wifa & 15 fpet Srar 81 & aran & fow suat eiwa ofa (fedi/ae o)

11

137

11

) 713

e 7%

z
1113

7
Correct Answer :-111:

9)
Question Stimulus :-

Maths

Pavan is twice efficient than Rakesh. If together they finish a piece of
work in 15 days. The number of days taken b% Pavan alone to finish the

work is:/Taq @ STAHAT IS A ST 31 afe 1 v a1y frelt & &1 15 feq o
B TP § d UG DI bA HTH UG S F o feT &) e 8-
e 10

e 25
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b3 |

=R

° 27

1
Correct Answer :-222

10)
Question Stimulus :-
Maths

The average of 5 consecutive even number is 18. Find the largest
number./5 AR T9 SEATS &1 39d 18 81 G 931 IWIT J1d B

e 20
e 22
e 24
e 28
Correct Answer :-22

11)
Question Stimulus :-
Maths
The speeds of three bus are in the ratio of 2:3:4 respectively .The ratio
between the time taken by them to travel the same distance is:/?ﬁ-‘-l 91 $I
TS BT SFUTT HH: 2:3:4 T UM g3t 99 A H 9% GRT T AT BT U 3¢

* 3:4:6

° 4:3:2

* 3:6:4

* 6:4:3

Correct Answer :-6:4:3

12)
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Question Stimulus :-
Maths

In what ratio water must be mixed with milk costing Rs.24 per liter to
obtain a mixture worth of Rs.16 per liter?/¥.24 Ufd diex & gu & a1y fooa
3T ® Uit firamar s arfe Rysor &1 geg %.16 ufa dieR g2

e 1:2

e 1:3

e 2:3

®* None of these/s_rl'ﬁf I ﬁi el
Correct Answer :-1:2

13)
Question Stimulus :-
Maths

10 years ago, saloo was half of Rehan in age. If the ratio of their present
ages is 3:4, what is the present age of saloo (in years)?/10 CL qﬁmaﬂ

mﬁmﬁmﬁmﬁmluﬁmaﬁqﬁmmw3:4%mmaﬁmﬁ
g (a9 #) o1 82
e 10
e 15
e 20
e 25
Correct Answer :-15
14)
Question Stimulus :-

Maths

The probability that a card drawn from a pack of 52 cards will be a king
is:/52 AT & Udqd ®! T I PTd T 1 Uqd & qERME & Udd g+ DI UIfamdr gl


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

1/52

1/26

1/13

1/9
Correct Answer :-1/13

15)

Question Stimulus :-

Maths
Find the total surface area (in cm?) of a cone of hei.ght 24 cm and base diametey
14 cm./24 A4t FA13 MR 14 JH MUYR & U a0 TH WP &1 $d YUS AT (T At )
ITd BN

° 704

e 550

e 812

®* None of these/%‘l‘ff I ﬁ's‘ T8l

Correct Answer :-704

Topic:- Economics

1)
Question Stimulus :-

Laffer curve is associated with-/ @THR de &1 T g & 4 frad 82
® Taxation/ HYRYUI
* Public debt/ HTduTTfe 0T
* Public Expenditure / TTaSIT—® oOd

® Consumption Pattern / SUHFT Ufdw=yq

Correct Answer :-Taxation/ HIRIYUI
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2)
Question Stimulus :-

Theory of maximum Social Advantage was propounded by/ 3ifRr&dad IS ATH &1 s fFad
1 wfaurfea fovar

e Dalton/ STeed

* Samuelson/ SR

e Marshal/ ATfa

® James Tobin/ ¥ <ifaq

Correct Answer :-Dalton/ STeed

3)
Question Stimulus :-

Which of the following is not a test to determine optimum taxation?/ fFafaf@a & & #19 It srgeaaw
PIRIYU BT TH HAICT T8l 82

® Resources Expenditure/ I 99

e Administrative Efficiency/ URIRIf & SRI&Hd
* Size of the economy/ 3TTT BT ATHR

® Impact on Economy/ 3rIea=iT UR UHTG

Correct Answer :-Size of the economy/ 3R FT MTHFR

4)
Question Stimulus :-

Pump priming is related to-/ ¥ UTSFT &1 e fHa | 82
® Revenue generation/ ST g
® Use of public debt/ TTdSIA® HBUN BT IUTRT
® Social security/ ITHTRT® &I

* Public expenditure during recession/ Hdl &1 § HTdW P qg
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Correct Answer :-Public expenditure during recession/ Hdl T # Jrao® AT

5)
Question Stimulus :-

Which of the following is not a public good?/ i & ¥ ®19 Ift te Trdwfe =g & 82
* National Highways/ 31819 IretaTf
® University/ fayfaearea
* A Corporate Hospital/ ®IURE SRUATH
* Railway/ Y@d
Correct Answer :-A Corporate Hospital/ ®TRe 3RUATH
6)

Question Stimulus :-

Which of the following is not a Canon of Taxation?/ A% & & HI9-TT HIRIYUT HT YHGT 751 22
® Canon of Equality/ TG T YR
® Canon of Certainty/ fAf3aar @1 gz
* Canon of Efficiency/ G&fdT &1 ¥

® Canon of Convenience/ ITHdT &1 %I'ﬂﬁ':r
Correct Answer :-Canon of Efficiency/ G&dT &1 El'ﬁ'\‘ﬁ
7)
Question Stimulus :-

Chamberlin’s model of Oligopoly does not recognizes/ IFRfe HT JUPR Alsd g # I fra
TR el Bl

* Product differentiation/ 3T fadg
* Interdependency of firms in such market/ T SR # BT &t TRER® Far

* Homogeneous products/ T& SIil aegC
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® Firms of equal size and with identical costs/ BTHT BT TP I ATHR Td Th ELIRSING
Correct Answer :-Product differentiation/ 3dTg favg
8)

Question Stimulus :-

Euler’s theorem is associated with which of the following?/ T@r wHg g & ¥ f5w @ gwfta 32
e Utility analysis/ SUgifirar fazawor
* Equilibrium of firms/ WHT &1 YT
e Distribution of Income/ 3T &7 faazor
® Ability-to-pay tax/ &Y YITdTH &HdT
Correct Answer :-Distribution of Income/ 34 &1 faa=ur
9)

Question Stimulus :-

Which of the following statement is incorrect about social welfare Function?/ ATHIfSI® HedIvl A &
TR A & F SN A1 FYT 3R 32

® It is an explicit set of value judgment/ g Jeawrd fAvfal | w@ds 3

® It can be defined as an ordinal index of society’s welfare/ 3 THTS & HIU & HHATAD JADID
& wu # gRvifa far o 9o 8

® Its concept is hypothetical/ SH®! AYRUI UTHIUd &
® Itis used in developmental planning/ 39T UGN fasTaTH® e # fpar oI 9oar &

Correct Answer :-lt is used in developmental planning/ 39®T IUUNT fadTaTd® fRaio # foar
ST AHdT 8

10)
Question Stimulus :-

Which of the following is mismatched?/ g # & S &1 A 78 82

® Concept of potential welfare— Samuelson /T HATUT G| W—m
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GET IT ON
Google Play

® Theory of the second Best—R . G. Lipsey / facta wataw &1 frgr - omR.Sh.for

® Vicious Circles of Poverty —R. Nurkse/ f<<ia &1 goer 3R, Tdha

® Profit as a dynamic surplus — J. B. Clark / @H &T TS e — o, f. 51

Correct Answer :-Concept of potential welfare- Samuelson /T HcAT0T 3| W—m

11)

Question Stimulus :-

Consider the list | and Il and choose the correct code given/ JfI | Td Il TR faaR #* & ¥&! fawew giw

List-I/39f-1

List - II/ gf¥ - II

a)

Unlimited Supplies of
Labor/ %8 &1 3RAfHd gfd

1 |[Marshal/ |

Monopolistic

b) [Competition/ 2 W. A. Lewis/ <, U.
ERIREAIRE ARG SIEN
lc) [Quasi Renty 3imur @ (3 [igustin Cournot/

Model of dquon/

)

[GANYPR BT AISd

4 |Chamberlin/ Jrfe

Question Stimulus :-

alblc
2lal3lila b |c [
2kl Bl |
12BN b lc |@
32 la
alblcld
2 |4 1 3 12)

Correct Answer :-

Human Development Index, as developed by UNDP, does not consider which of the following?/ Igad
1y faera srdwd gR1 fReRia 7re e YEeis A d @ 5y w® AR 7@ swar

® Pper Capita Income/ fd safad sma

* Infant Mortality Rate/ RRIg] g &®
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* Average years of schooling/ fauTerdt arerae & 3nwa oy

® Expectancy of Life at Birth/ =1 & THY Sfiad yeam=m
Correct Answer :-Infant Mortality Rate/ R[] g &
13)

Question Stimulus :-

Physical quality of Life Index (PQLI) has been constructed by which of the following?/ sfias 1} ifa®
ot fdRne e & I fPad grRT 9m T 32

® Mehboob-ul-haq/ HEgE-3d-5F
® Amartya sen/ W A9

® Morris D Morris/ 91 . 9
® Paul P. Streeten/ UTd . &ied

Correct Answer :-Morris D Morris/ HIRE St. 7S

14)
Question Stimulus :-

The current concept of National income estimation is based on/ ?1@11 3T 3TH AT B! AT STUROI
fra v eyl 82

® Gross Value Added/ 9% d &I adq

® Gross Domestic Product at Factor income / 91U 3T U IHd ‘Eﬁqaﬂﬁ.’
e Gross National Income at Market Price/ 99IR $1Hd WR J&d Tréju 3T

* All of the above/ Suda |t

Correct Answer :-Gross Value Added/ 9&d Hcd CUE

15)
Question Stimulus :-

Which type of census is not conducted in India?/ T UHR $t STTUFAT YR | T8l I W12

e Economic census/ 3TRI& STRTOMAET
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® Live-stock census/ U STTUTHT
* Population census/ SIHBT STFRTUMT
® Factory census/ BRI ST

Correct Answer :-Factory census/ PRAMT S-IOTAT

16)
Question Stimulus :-

Who is the Registrar General and Census Commissioner of India?/ HRd &1 HgIYSIIA® TS S-RT0T
SATYF DI

e Sailesh/ Qo=

e Chandramauli/ JgHIch

e Ramesh Chand/ 0¥ =%

e B.B. Bhattacharya/ &t.dt. ygrard

Correct Answer :-Sailesh/ a9

17)
Question Stimulus :-

The credit for the development of techniques of standard tables of random
number goes to?/ 3 J@mait

Pt AFDIHd difae1si B dp-ia! [AHRIT A &1 37 fFa &) war 32
¢ Iriving Fisher/ SfdT fhRR
® L.H.C. Tippett/ €. €. &l feue
* Kendall/ =Tl
* Rand Corporation/ ¥8 HRURTA

Correct Answer :-L.H.C. Tippett/ T&. Td. . feue

18)

Question Stimulus :-
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Relative error is measured by/ Imufére Ffe ardt wrdt 8 GRT

E—A

Correct Answer :-

19)
Question Stimulus :-

Price elasticity of demand is measured by/ |’ &1 &9 @ GRT ATdt STt 8

Correct Answer :-

20)
Question Stimulus :-

Which of the following average is used to calculate average annual growth
rate of International income

for a period of 10 years?/ 10 auf % s@eft & forg Wty oy # shwa affe dafs & #
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AT 3, fRe W @) wye fan wirar 32
® Arithmetic Average/ HHT=IR AT
* Geometric mean/ TUIRIR ATA
® Harmonic Mean/ BITH® AT

® Progressive Mean/ WIfe=ite ATed

Correct Answer :-Geometric mean/ TUlR AT

21)

Question Stimulus :-

GET IT ON
Google Play

If the value of variance for a series is 256, and coefficient of standard
deviation is 0.25, the value of the mean will be:/ af¢ f<} s@ar &1 YR 256 TUT AF®

famra=T Ui 0.25 8, @ ITDT WTH BN

® 1024
. 64
. 16

e 4

Correct Answer :-64

22)

Question Stimulus :-

Standard error of Coefficient of Correlation is calculated by/ g W= TUli® &t D (S BT MTHaA

39 9 far ot &

r<—

1

VN

1— r=

-

° N<
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1— r=

1— r=

Correct Answer :- N

23)
Question Stimulus :-

Keynes Psychological law of Consumption is based upon whic_h of the
following assumptions?/ ®I= &T IUANT ST A7 Fuw g & 3 feq
ATl wR Tid 8?2

I. Propensity to consume remain stable/ SUHHT uqﬁr fRR wEd 8

I1. There is no war, revolution or inflation/ g, Sifd 3YaT GERWIfd 3Mfe T8t
Tl 3

II. There is no restrictions on consumption by the government when
income rises/ 3 ¢4 W PR GRT SUHNT 3 W HIg Ufda~ A1 4T Sl

e Onlylis correct/ »ad | HE &

I & Il are correct/ | 3N 1| TS &

I, I & Ill are correct/ I, II, Il TS &

None is correct/ &g I I8 781 @

Correct Answer :-l, Il & lll are correct/ I, II, Ill 98} &

24)
Question Stimulus :-

Which of the following pair is mismatched? / 9 & ¥ ®I9 a1 gAfera &t 82
e Absolute income hypothesis- James Tobin / fARU&l 3ma TREuAT -sivg aifaq
® Relative income hypothesis-James Duesenbeery / STUf&® Mg UR&AT -S= @T:Iﬂaﬁ
® Permanent income hypothesis—Milton Friedman / Turft 3 uR&eu=r -fireed wisA+
e Life cycle hypothesis- J.M Keynes / Siia-Tash TR&eT -5, TH. Bivl
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Correct Answer :-Life cycle hypothesis- J.M Keynes / Siia-as aR&ed=T -9, T, S

25)
Question Stimulus :-

Logically, investment is undertaken as long as the / dBHIP U I a9 39 99y 9@ fear smar
gl § 99 9%

® Margined efficiency of each additional investment exceeds the interest rate/ Td® 3ifaf¥ad
o= 1 diura gerar s B R @ i TEdt @

* Interest rate remains higher than inflation rate/ STl #t & ERWIfd &I ¥ I AP TEd! 8
® Government allows the concessions on investment/ ISR 3% wR Rarad 3t et @

® Fiscal d%ﬁcit of the government is within manageable limit/ ISR 1 ISHNIT Grer yafda dar
¥ gl

Correct Answer :-Margined efficiency of each additional investment exceeds the interest rate/

Tde Sifaied e &t FHr gerar I 1 R A e gl &

26)
Question Stimulus :-

Whiéh of the following is not a component of reserve money?/ Fa & & PIH-9T URFeA Yol BT Uch
el

® Currency in circulation/ T § HgI

* Deposits of banks with RBI/ HRd1T Reid 9@ & U 9+ & gy
* Demand deposits with banks/ &I & URT HiTT STHR

e Other deposits with RBI/ YRd1g f¥eid 9% & ur oFa &g

Correct Answer :-Demand deposits with banks/ &1 & URT HITT STHTY

27)
Question Stimulus :-

Which of the following statement does not hold true in relation to the
Principal of acceleration?/ XUl & ¥ # A9 A F19-91 Y= T} 781 82

® It was analyzed by Aftalion/ 39T fazawur vwaiferas gr1 forar ar @


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

® The term “Acceleration Principal” itself was first introduced into ECONOMICS by J.M.
Clark/“w@Rur Rgia” ug rf=med # 9ad ugd o, Q0. Fah gRT wgad fosan mar @

* Acceleration coefficient is demonstrated by AI/ AC/ @@=l 7uris &f AI/ AC gRT welRfa
oo SmaT @

® Stock of capital depends on the demand of consumption goods/ Gsft &7 TP aﬁeﬁ & ST
&t 7 ) flk a1 @

Correct Answer :-Stock of capital depends on the demand of consumption goods/ tj?rﬁ &I TP
Fegell & IUURT Bt 7 ) Rk srar @

28)
Question Stimulus :-

Which of the following is the best known as Hicks-Hansen Model?/ fA9 & @ #19-91 foeq - 8=
Aisd & E9 | ST ST 32

® IS-LM Model/ IS-LM ATsd
e Ordinal approach of utility analysis/ SUHIET fA=AYUT ST HHATAS IUANT
® Ability-to-pay theory of taxation/ HRRITUT HT YITAT &HdT Rrgia
* Theory of second best/ gl Walaw &1 Rygia
Correct Answer :-IS-LM Model/ IS-LM Hisd
29)

Question Stimulus :-

Open market operation refers to:/ I IR & fparai A MM 8

® The buying and selling of government securities in the open market/ gﬁ TR # GXHRY
wfayfadi &1 w4 fawa

® The buying and selling of food grains in the open market/ GX®R §RT Eﬁf TR | WUt T H9
fassa

* The buying and selling of gold by the central bank in the open market/ €q & gRT [ TR
| vl &1 3a fawa

® None of the above/ TH ¥ ®Ig &I

Correct Answer :-The buying and selling of government securities in the open market/ @?f

ToR # R ufaufaal &1 w4 fawpa
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30)
Question Stimulus :-

Natural rate of unemployment is the-/ SRISFTRY &1 wﬁm B
* Sum of open and disguised unemployment/ Jdll Td Ue3d aRASHIRT BT TIT
® Difference between open and frictional unemployment/ q?ﬁ TS TYUITA S SRISRTRT &7 3R
® Sum of structural and frictional unemployment/ T TG TYUNTHS IRISRTRT HT AR

® Unattainable optimum level of employment at a desired growth rate of the economy/ 3rfa=ir
D1 sfsa Tgfd R TR SR &1 TR W 7 g a0

Correct Answer :-Sum of structural and frictional unemployment/ SREATH® Td TiUTHS
RIS BT IR

31)
Question Stimulus :-

Which of the following is not an instrument of monetary policy?/ 79 # ¥ &9 91 Wifd® fAfq &1
SUBT A&l §?

® Discount Rate/ ¥gT &%

® Monetized Deficit/ ﬁﬁﬁ °reT

® Repo Rate/ ¥4I &%

® Statutory Liquidity Ratio/ |TREfI® dradT Ut
Correct Answer :-Monetized Deficit/ HifsFa °rer
32)

Question Stimulus :-

Investment opportunities do not increase because of the following reasons:/ 19 # ¥ {9 ®RUT &

fora=r sl # iy =16t Bt
® Low interest rate/ sl &S &3

® Constant marginal efficiency of capital/ Gsit @1 IJHT garaT 1 R AT
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* High expectations of business community/ SITGITRIS GG $t 3 AUETY

® Liberal credit policy/ SeRIgd IRg —ifd
Correct Answer :-Constant marginal efficiency of capital/ Gt @t IJaT g&rar &1 fRR =T
33)

Question Stimulus :-

As per World Bank classification, India is placed in which category of Nations?/ fay & & affeur &
3R, HRA I & fbw o 7 &2

® Low income country/ g Mg arar e

Low middle income country/ 19 9&a9 3mg aretm =

Upper middle income country/ 3= HeAH 3{TT aTdT ST

High income country/ 3= 314 aIdT T
Correct Answer :-Low middle income country/ -9 Hea® 34 arem &1
34)

Question Stimulus :-

Which of the following state refers the “Demographic Dividend”?/ g o 9 #-3dt &Y ot
“SHIfPPI AU HET ATl 32

* Ratio of population in the age group 15- 60 years is more than 50 percent /15-60 T4 3Ty it Ht
ST T A TGS A 3UTd 50 ufa=a | it g

® Gross enrolment ratio in higher education is more than 30 percent/ 3= &1 § G&a AHIHA
YT 30 Wfa=a & 3if® g

® At least 10 percent population in the age group 18- 23 years is technologically qualified/18-23 atf
g Tif B FH A HH 10 YA TAHBT dHB! U A 38 AT

* All of the above/ 3udad It

Correct Answer :-Ratio of population in the age group 15- 60 years is more than 50 percent /15-
60 T 3T T B TTACAT BT T FTHSAT F UTT 50 UTa=d & AP i

35)

Question Stimulus :-
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If ratio of population in the age group 0- 14 years to the total population
of a country is more than 40 percent, then trends in population growth will

be:/ afe f&dl <= # o- 14aﬁmaﬁaﬁmmgﬁrmﬁm4om
q oftre ¢ it e gfE wgfa @l

e Stable/ fRR

® Decreasing/ ¥ areit

® Increasing/ 98+ drell

® Increasing with a slow pace/ ¥} 7Ifd | T¢ archt
Correct Answer :-Increasing/ S+ areit
36)

Question Stimulus :-

Census of India 2011 was the census of India./ YR S-UMT 2011, YR I HIF Gl S0HT
A2

o 12t
o 13t
o 14th
e 15th
Correct Answer :-15%"

37)
Question Stimulus :-

Dependency ratio is estimated by the following formula:/ 33T 3FUTd &7 3Mpa- FE A A fFPT T @
forar S @2

P;:I}—lél} + P.:E.D"}

®* 1000
Pris—se)

P.ju-—ls} + P.:E.E.*} % 1000

Prig—ee)
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Pieot
Total Population

X 1000

Pieo+
_(e07) % 1000

o (18-80)

P{I}—lﬂ}} + P.:E.D"} % 1000

Priz_
Correct Answer :- 5759

38)

Question Stimulus :-

Neo-Malthusians differ with Malthu’s in the following manner:/ JHd-HTH act g A 3 5 amd | aw
| WgHd T8l U2

® Population can be controlled only through Ethical and natural methods/ SIS B ad Afde Td
“afife Iuah & Frafa fear o aear @

® Trends in population growth/ e ﬂi@ | Elqﬁl

® The sexual and reproductive instincts are by no means one and the same/ T BT FI1 94T HdH
ity 1 ST TP & T8

® None of the above/ T8 d ﬂﬁg E

Correct Answer :-The sexual and reproductive instincts are by no means one and the same/ T Bt
BT TUT JaH U B} 537 U & 81 &

39)
Question Stimulus :-

Dalton’s formula for the estimation of optimum population/ 3J®ddH SeeEn Ay %ﬂ . STee-T &1 L El

A-0

M=——
. 0

A-0

0=——
. M
0O—-4A
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Correct Answer :-

40)

Question Stimulus :-
Which of the following is mismatched?/ fgda Cac k| ﬁﬂﬁlﬁ Hﬁ %

® Theory of Diet - Thomas Doubleday / 3T8R T Rigi— - YA SIS

® Fertility function theory- Herbert spencer / WS- - &bl Rrgi=a - Gﬁ'zf TR

® Theory of Biological Stages - Raymond Pearl / Sfae srawursit &1 Rigi - s ud

® Theory of Protein consumption-Jouse De Castro/ TS SUHIT HT ﬁm-ﬁﬁ'\ﬁ | Q)T\‘E?f

Correct Answer :-Theory of Biological Stages - Raymond Pearl / Sifae T &1 Rrgi - Ys It

41)
Question Stimulus :-

Exponential projection of population is measured by the following formulae:/ YIdafear vayor 3 SIS BT
T+ e g & e e @

P _P e™

P_P ™1

P Py

° n-— Eﬂ:l.
1-m

. F -F,e

P e™

P _
Correct Answer :- *~ °

42)

Question Stimulus :-
Life table contains how many columns?/ Shta= diferet A fraa wwy 'eﬁ?[ %?

« 6
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Correct Answer :-8

43)
Question Stimulus :-

Which of the following state has highest percentage of urban population in 2011
census%data/2011 STV TP S| & AR 9 # | 59 I & TR s=aen &1 ufad
afferes 82

Gujarat/ eiRId

Maharashtra/ HERTY

Punjab/ U919

Tamil Nadu/ afirerg

Correct Answer :-Tamil Nadu/ affierg

44)
Question Stimulus :-

was the first country in the world to start a national programme of family planning./

TRaR e &1 U i SrRisd TR™ B3 are {3y o1 g 3 ol
* China/ 99
® |ndia/ URd
® Brazil/ STSE
® Argentina/ 3fS{AIAT
Correct Answer :-India/ HRd

45)

Question Stimulus :-
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Which of the following is not an objective of population policy-2000?/ A9 # ¥ SH-IT S=wE Hifa

2000 T TFH I£]T -8l 82

To bring the total fertility rate at replacement level 2:1 by the end of 2010/ $@ U= &< HI a4
2010 TF 2:1 & UfAITUT ®R TR T

To make the registration of birth & death and marriage compulsory/ 5/1- 4§ Td faarg &
SR &1 Sifrart ST

To fix the number of seats in Lok Sabha at 543 for ever/ W& JAHT § S| ) YT B Fed &
fore 543 fAfda & &

Population stabilization by the end of 2045/2045 9% SU@T PT fREBIVT HIT

Correct Answer :-To fix the number of seats in Lok Sabha at 543 for ever/ @& THT H Yl &I
BT B Hed & fore 543 fAfda o &

46)

Question Stimulus :-

The market mechanism fails in the case of: / {59 AHA H IR T B IgdT ?

* Pure Public Goods/ fax[s ATdeifA® awqu

* Public Goods/ HTdSI® a&IT

* Merit Goods/ Af¥e a¥qu

* Private Goods/ fAsil a¥qQ

Correct Answer :-Pure Public Goods/ fa[s ATdwi® a¥qd

47)

Question Stimulus :-

Problem of ‘Free Riders’ is related to-/ JUWRIGERI @ THWT Hafd &-

* Development ECONOMICS/ fawrT srd=me

e Public ECONOMICS/ @F iR

* International trade/ <RI ATIR

® Demography/ SHife®!
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Correct Answer :-Public ECONOMICS/ @& 3=

48)
Question Stimulus :-

The Expediency Theory of taxation stipulates that/ ®IRIUT T FRI-JTUP RIgi~ IdTdT 8 DI
® Every tax proposal must pass the test of practability/ T&® 3 U9 ATGGIRS &l

e Effect of a tax system should be treated as irrelevant/ f&dt faaRe= &% & gymEal R faR s34
P ATIYHAT T ©

® ECONOMICS and social objectives of the state should be treated as irrelevant/ SR & HHA
H Iy & 3 g T SRl WR faaR s ad @

* All of the above/ Suda |2t
Correct Answer :-All of the above/ Sudad T
49)

Question Stimulus :-

Who made a distinction between personal collective wants and collective wants proper?/ f&d

iR A dufdae Infes someil vd INfe® s Ifta & & dg fear?
* Antonio de viti de Marco/ it &t faet & ATt
* Knut Wicksell/ 7¢ fasia
* Emil Sax/ Tf@ d50
® U. Mazolla/ g, #dern
Correct Answer :-Emil Sax/ Tira 9o
50)

Question Stimulus :-

Which of the following tax earns highest revenue to state exchequer in India?/ YRd # JSHIY B
Haifere I f5a & I v gar @

* Central Excise Duty/ %1 ITG Y[eh

® Customs Duties/ IHT b
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® Corporation Tax/ T &%

* Service Tax/ |al H%
Correct Answer :-Corporation Tax/ i &%
51)

Question Stimulus :-

Which of the following tax can be regard as a progressive taxation?/ f5% & ¥ f&a wrfasiia HIRIUUr
HTHT ST 32

® Taxon Car/ PR UX B

® Tax on person’s income/ AfwrEl F 3T U B
® Tax on narcotics/ T=iel garsif uR H

e All of the above/ G'ITQW gft

Correct Answer :-Tax on person’s income/ SfRIdl &1 3T TR HT

52)
Question Stimulus :-

Which of the following theory is associated with public expenditure?/ fAg & ¥ #19-a1 fRrgi=
Trde~e oIg I Eiid 82

® Wagner’s law/ aWR &1 fFagq

® Wiseman- Peacock Hypothesis/ AT T-MPie UTamed-T

* Pure theory of public expenditure/ ITduT® o170 &1 fags Rrgi<
e All of the above/ GTI'QHH gaft

Correct Answer :-All of the above/ Sudad

53)
Question Stimulus :-

Which of the following concept of deficit financing is not being used in India at present?/ rer fa<ia=
Pt PIF-UI AURON 3G URT | TG -Tel B! o7 B! 22
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® Budget Deficit/ SSI¢Id HTeT

® Revenue Deficit/ IS 91eT

® Fiscal Deficit/ ISTHIYIT °TeT

® Primary Deficit/ UT4f¥® Hrer
Correct Answer :-Budget Deficit/ IS¢1d HTel
54)

Question Stimulus :-

Which of the following tax is imposed and collected by Municipalities?/ /g # @ PI-AT
TRUTRIPGTSH gRT TAT SR SRLAT AT 82

® Sales tax/ fawt #%
® Wealth tax/ Y9 &R
® Estate duty/ JHIGI B
® Octroi tax/ 9t &=

Correct Answer :-Octroi tax/ T &

55)
Question Stimulus :-

The largest item of public expenditure in India is:/ YRd H FTdeT—® g & a9 I¢1 HG &
® Defense expenditure/ J&T Y
e Subsidies/ TfSUST TR =g

* Expenditure on Pay and Pensions of government employees/ TRHR} HHATRY! & dd- Td Ul
R AU

* Interest Payment/ TS & YA WX &I
Correct Answer :-Interest Payment/ 91 & Y R &I4

56)

Question Stimulus :-
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Raja J. Chellia committee on tax Reforms was constituted in which period?/ & ﬁ‘iﬂﬁ TR 30T o,
Teerar It &1 e+ [P sifaftr & fasar wam UT?

® 1980-1985
® 1985-1990
® 1990-1995
® 1995-2000

Correct Answer :-1990-1995

57)
Question Stimulus :-

Which of the following is a one-time tax with the goal of retiring public debt?/ g # ¥ P19 IT T
I B g S e B g & e uyged forar i @

® Corporation Tax/ 7 H &=

® Capital Gains Tax/ sl @Y &Y
® Capital Levy/ st &%

® Estate Duty/ ¥l Yeb

Correct Answer :-Capital Levy/ UGl &%

58)
Question Stimulus :-

Which of the following is not a part of land reforms?/ & & & H19-11 YfA JUR &7 3771 T8 82
® Abolition of Intermediaries/ LRIl BT IHA
* Land Reclamation/ Yf¥ THadIHROr
e Consolidation of Land/ T&Ha—<!
* Distribution of Land to landless labourers / Y@ &t Yy faa=or

Correct Answer :-Land Reclamation/ 4§ JHaelt®Rl

59)
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Question Stimulus :-

Which of the following institution provide highest credit to agricultural sector?/ g # & ®1H-w} T
PN & &) Galftie I UeH Fd! 82

* Regional Rural Banks/ &g urfiur §&
® Cooperative institutions/ TEHRI TEITY
e Commercial Banks/ TadA® d&

* NABARD/ ATETS

Correct Answer :-Commercial Banks/ QIS d&

60)
Question Stimulus :-

Which type of unemployment is most common in rural areas?/ Iriur &= # f&g PR Ft SRASRY
gaifere grit STt 82

® Open unemployment/ &l IRIRY

® Seasonal unemployment/ HIH SRS

* Disguised unemployment/ U3d SRS

® Structural unemployment/ TRTATHSD SRISHTRY

Correct Answer :-Disguised unemployment/ U39 SRISHTRY

61)
Question Stimulus :-

Exit Policy is related to?/frfa fifa frad Twifta 82
* Industrial sector Reforms/ 3NENfAF &% UR
® Labor Reforms/ 4H gUR
® Trade Reforms/ ATUR JUR

* Financial Sector Reforms/ fa<fta &= gurR

Correct Answer :-Labor Reforms/ 49 gUR
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62)
Question Stimulus :-

New Foreign Trade Policy (2015-20) aims to increase exports of merchandise and services from USD

465.9 billion dollar in 2013-14 to billon dollar by the end of 2019-20/ 75 fad=T =R Hifa

(2015-20) ¥ Yvg ug Farsif & fAufa $1 2013-14 H USD 465.9 faferaa STeR A FeEH 2015-20 & 3 dF
fafer STerR == &1 9ga ¥ 3l

e USD 900 billon/ USD 900 fafera=
e USD 1000 billon/ USD 1000 fafera=
e USD 870 billon/ USD 870 fafera=

e USD 1100 billon/ USD 1100 fafera=

Correct Answer :-USD 900 billon/ USD 900 fafera=

63)
Question Stimulus :-

As per WTO’s report, which of the following statement is true regarding India?/ fd4 =UR e ot
T Rl & UR URd & aR # g # | &9 91 HuT 8! 82

* India’s share in world’s total exports in 2014 is 2.5 percent/ 2014 ¥ fay & $a fafdal & URa &1
fewr 2.5 ufowa @

® India’s share in world’s total import in 2014 is 3.7 percent/ 2014 ® fa% & Fa AT § YURT BT
fewan 3.7 ufawma @

* India’s share in world’s total services exports in 2014 is 3.15 percent/ 2014 ¥ Jqrsfi & Fa Fatal
# YRa &7 v 3.15 wfawa @

* India’s share in world’s total services imports in 2014 is 2.35 percent/ 2014 ¥ Jq13ff & Fd
STl ® YR &1 fewar 3.7 ufaze 8

Correct Answer :-India’s share in world’s total services exports in 2014 is 3.15 percent/ 2014 H

Tarefi & o Hafal § yRa &1 e 3.15 wfaza &

64)
Question Stimulus :-

Which of the following industry still require compulsory license?/ f&d U#R & I & g oy of
Arsad I Sifard g
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e Distillation and brewing alcoholic drinks/ 3epigd god U} &7 3THaT Ud TRTE I411

* Cigar, Cigarettes and other substitutes of prepared tobacco/ RFTR, RFRe 3R AR TP T T
LI INR

® Electronics, Aerospace and all types of defense equipment/ sﬁaﬁﬁa‘a, TR td 9 yeR
& I&T SUDIT

* All of the above/ Sudad a3t

Correct Answer :-All of the above/ 3uqad i

65)
Question Stimulus :-

Which of the following is the prime objective of a firm?/ g § @ ®Y9-a1 f5eht B ®1 U@ ST B2
® Profit Maximization/ @TH &1 3freaH &I
e Sales Maximization/ fas! &1 Siftreaw AT
® Revenue Maximization/ 3T &I SffUHaH BT
* Goodwill Maximization/ T[sfa@ &I ifRrean H=-

Correct Answer :-Profit Maximization/ Y &1 SifredH HIAT

66)
Question Stimulus :-

Why the textiles industry is more concentrated in Gujarat?/ TeiRTd § RICISTH ITUNT FT Ahfad 82
® Easy availability of raw materials/ &= HTd @1 gITH Ul
® Easy access to ports/ deTel 9P ITH U1
* Highly developed road and rail network/ 3r@if¥i® fA®Ria Ts® Td ¥ Acad
* All of the above/ 3udad It

Correct Answer :-All of the above/ Sudad

67)

Question Stimulus :-
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Which of the following characteristic explain imperfection of labor market?/ g & ¥ S19-3 aiftraeor
97 JTR @1 Squifasii @) amaT wvd 82

® Heterogeneous nature of visits/ BT B fawrdaar

® Multiple price structure/ §§ H1Hd |3THT

* Imperfect competition in labor market/ %9 ¥T9IR ¥ 3/quf wfamfrar
* All of the above/ 3udad i

Correct Answer :-All of the above/ Sudad T+

68)
Question Stimulus :-

Which of the following legislation is closely associated with the protection of labor’s rights?/ g & &
PIF-TT Gfaad o9 ARGRI F TIeor F T 32

® Factory Act, 1948/ ®R@I ifafaad, 1948

® Indian Mines Act, 1952/ YRdg @M Siff9ad, 1952

® Payment of Wages Act, 1936/ Tﬁl@'ﬂ UGG S, 1936
* All of the above/ Sudad dt

Correct Answer :-All of the above/ 3udad i

69)
Question Stimulus :-

Expectancy of life at birth in India in 2014 was:/ 2014 E ST $ FHT ST @RI URaG & s
* 68.0yrs/ 68.0 9¥
® 65.5yrs/ 65.5 4
* 62.3yrs/ 62.3a¢
® 60.7 yrs/ 60.7 9

Correct Answer :-68.0 yrs/ 68.0 ¢

70)
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Question Stimulus :-

NITI Aayog has constituted a task force under the chairmanship of for the identification of

poor./ Y ST A _____ Y sremeran & A ) RfRa w3 & Rig e w1 @1 1o fan 1
® Surjeet Bhalla/ gIsild Hedl
e Bibek Debroy/ fae® da_ig
* Ramesh Chand/ THY 95
® Arvind Panagariya/ 3Rfdw g=ImTRar
Correct Answer :-Arvind Panagariya/ 3Rfd=e T=IRTRAr

71)

Question Stimulus :-

Multidimensional Poverty Index has been developed by-/ agerrar:ﬁ e fAdwre feRa fear mar @
® United Nation’s Development Programme/ I MY fawra sTdfwH grRT
e World Economic Forum/ fay anfde w9 gr1
* Oxford Poverty and Human Development Initiatives/ 3RS fAefHaT Td #Ha faw ugd gRI

e World Bank/ fay 9% gRT

Correct Answer :-Oxford Poverty and Human Development Initiatives/ 3ffeawmIs fAdHar Td
AT faPrT Ugd g1

72)
Question Stimulus :-

Which of the following is not a Gas Power Project?/ 5 & & &9 |1 A9 snutia faya ufkaissn 78 82
* Kawas (Gujarat)/ Ha (ERTA)
* Auraiya (U.P)/ 3T (SR W)
o Kalpakkam (Tamil Nadu) /% cdUdhH (?Iﬁlﬁ Aarg)
* Maithans (Bihar)/ 331 (fS8R)

Correct Answer :- Kalpakkam (Tamil Nadu) /s dUddhH (?Iﬁl?r Aarg)
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73)
Question Stimulus :-

Which of the following statement is true regarding sex ratio in India?/ URd H T FIR A Fmd
¥ HH-TT HYF T 32

® Sex Ratio in 2011 was 940/ 2011 ¥ Ut 940 AT
® Sex Ratio for overall population was higher than sex ratio for the population in 0-6 years age
group in 2011/ 2011 ® WUl W@ & T fRimguTd 0-6 o 3y @l Ft TN & fimgUE 9@
Ut

* Sex Ratio was highest in West Bengal in 2011/ 2011 ® U. §@ ¥ fFura Haifees of

® Sex Ratio for overall population and for population 0-6 years age group was equal in 2001/ 2001

# ol SR & g RimguTd 0-6 oW Iy @i Ft S & AU & aRIER o

Correct Answer :-Sex Ratio for overall population was higher than sex ratio for the population

in 0-6 years age group in 2011/ 2011 ¥ WUl FHEB & R fRFTHUT 0-6 af 3mg ot &t 8B &
T & ifere ar

74)
Question Stimulus :-

Production of food grains in India was highest in the year [ YRa | WAl &7 AT CL
o Taifire A1l

* 2011-12
* 2012-13
* 2013-14
* 2014-15

Correct Answer :-2013-14

75)
Question Stimulus :-

Minimum support price is not announced by the government of India for ./ HRA IXPR gRT
& o =gmaw guda geg 3 givon A8 ) St

® Soyabean/ dHgTEA
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e Cotton/ PUNH
® Sugarcane/ 4T
® Tees/ SR&R

Correct Answer :-Sugarcane/ Idl

76)
Question Stimulus :-

Make in India campaign was launched on / 0% 3 sfEar SRR &1 gUR™ 3 foar
T 491

e 15t August 2014/ 15'h arra 2014
e 25t september 2014/ 25t Raw R 2014
e 25t pecember 2014/ 25t iR 2014
e 26 January 2015/ 26t St 2015
Correct Answer :-25" September 2014/ 25" Ryawr 2014

77)
Question Stimulus :-

Core industries in India do not include/ HRd ¥ w@ I # 7 # & fod wmfdra =&t foan smare
e Coal/ e
® Electricity/ faya

® Steel/ THId
e Automobiles/ 3ffciHiaTsed

Correct Answer :-Automobiles/ 3iTeHIaTS

78)
Question Stimulus :-

Which of the following is not a Maharatna Company?/ g & @ #19-3} WgRd $W! T8! 82


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

® BEL

® ONGC
® SAIL
* GAIL

Correct Answer :-BEL

79)
Question Stimulus :-

Which of the following institution has replaced Monopolies and Restrictive Trade Practices
Commission (MRTPC)?/ fA # & 59 TwT 7 THRI®R Td ufaa=rars IR ugimar SmanRT
(TH.3R. & .3 +f ufawufoa fear g2

® Securities and exchange Board of India/ YR Elﬁ'l{ﬁl'm wd fafam a8

® Competition Commission of India/ YR<a wfazaef smaiT

® Board for Industries and financial Reconstruction/ 3nenfare fasfa TRl TS
* None of the above/ 3udad & ¥ B T8l

Correct Answer :-Competition Commission of India/ R« wfaeayf SmaT

80)
Question Stimulus :-

MUDRA Bank lends to/ g&T & f%d IUR it 82
® Micro Manufacturing Units/ & fafemtor SRl Bl
e Medium scale units/ HTEAH IR B
® Farmers/ m A
* All of the above/ 3udad i

Correct Answer :-Micro Manufacturing Units/ & fafutor sesal ot

81)

Question Stimulus :-
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In the classical theory, an increase in money supply leads to / TR Rigia # ga1 I myfe & gfx

q

® |Increase in savings/ ddd s q@ gt %

® Decrease in investment/ fAas # &} gt g

® |Increase in price level/ FHIHd TR A S gidt @
* Decrease in price level /&1Ad WR A g3 gidl 8

Correct Answer :-Decrease in price level /3Hd &R # g gl @

82)

Question Stimulus :-

The Law of Diminishing Returns to Scale holds true in the:/ THM & 9ed Ufdwd &1 fFaw el Eﬂ'clT %

® Market — Period/ dTSIIR 3afdr #
® Short - Period/ 3T 3f@fts s

® |Long - Period/ ff‘if 3@y o

® Secular - Period/ ARIAR faftr

Correct Answer :-Long - Period/ 3t 3afyr &

83)

Question Stimulus :-

The Phillips Curve shows the relation between/ fifereT as & 1 gra= eifar @

® |ncome and consumption/ 3T 3R IUHRT
® Income and price level/ 3T 3R T ®R
® |ncome and investment/ 3Td 3N fAawr

® [nflation and unemployment/ Wﬁf 3R RITL

Correct Answer :-Inflation and unemployment/ JaRWIfd 3R RS

84)
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Question Stimulus :-

The doctrine of unbalanced growth has not been advocated by-/ emgl%ra e &1 Rigid fead grT
gfearfea =&t far war?

® H.W.Singer/ Ta.8a], R

® W.A. Lewis/ &, T. dfaw

® A.0.Hirschman/ Q. 3it. g¥aq

® C.P.Kindleberger/ &, i, fFsaaiik

Correct Answer :-C.P. Kindleberger/ . fl. frsaaiiv

85)
Question Stimulus :-

The ‘Incremental Capital-Output Ratio’ is symbolically written as/gfs @R Ysil-3dTe U 97 =0 §
fPa yoR ferar wirar 82

® K/L
e AK/AL
® AK/AY
® K/Y
Correct Answer :-AK/AY

86)

Question Stimulus :-

Which one of the following is not an instrument of fiscal poIicy?/ﬁI’H # A SH-I1 IH N Hifd BT U0

6 82
® Public Revenue/ Trduife eI
® Public Expenditure/ﬂ'lﬂ\_rlﬁﬂi qg

® Public Borrowing/ Trdeifae YR}

® Cash Reserve Ratio/ A®¢l WRIAA SUTd
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Correct Answer :-Cash Reserve Ratio/ T®hal WRI&H IUTd

87)

Question Stimulus :-

The role of the State under globalization is:/am A I B ‘ﬁlﬁﬁﬂ Eﬁ'cﬁ %:

® Zero/ [

® Maximum/ 3ifir&dd

® Minimum/ SAdH
® Neutral/ doJ

Correct Answer :-Neutral/ T4

88)

Question Stimulus :-

GET IT ON
Google Play

For a function x-y=10, the value of Carl Pearson’s coefficient is-/ x-y=10 A ® ﬁl’l{ PTet TRE Hg-gH+

TUTis BT A BIT &

® Zero/ [

® One/ TP

°* 1

® Infinity/ 3

Correct Answer :-One/ T

89)

Question Stimulus :-

Who is Director General of WTO?/ fd¥ SITUR T & AR HIH a2
® Roberto Azevedo/ Jdal Q\_;ﬁgbf
® Lamy Pascal/ aHl g

® William Diamond / faferaw sraws
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® Eugine Black/ gfor P
Correct Answer :-Roberto Azevedo/ Qﬁﬁﬁ'ﬁa’@ﬁ

90)

Question Stimulus :-

Which of the following pair of institution is known as the Bretton Woods Sisters?/ o A 3 e Twursh &t
o 989 T8 & U | ST ST 82

® |BRD and IMF/ IBRD 3R IMF
® WTO and GATT/ WTO 3R GATT
® UNCTAD and WTO/ UNCTAD 3R wto

e« FAO and UNESCO/ FAO 3R UNESCO
Correct Answer :-IBRD and IMF/ IBRD Gﬁ?IMF
91)

Question Stimulus :-

Which of the following is not a characteristic of Giffin goods?/ g & Q@ #1F-91 Aifeea avjaﬁ &1 SfHaeor
T8 82

® the good in question must be inferior goods/ WHTd a¥q gfear a¥q ﬁ‘ﬂ ?ITI%T{
® there must be a lack of close substitute goods/ TITHTUA d¥] Hﬂﬂﬂﬂiﬁ

® All Giffen goods are inferior goods, but not all inferior goods are Giffen goods/ Tt FIfRp= a¥qy ufear
TG Bl § afe Tt ufear awge Mifea awgy 78 gt

® |ncome effect must be positive/ 3Td YHTd YATHSD Gl
Correct Answer :-income effect must be positive/ 310 UHTT YTHS gl
92)

Question Stimulus :-

Product differentiation is an important characteristic of / Sdlq ﬁ‘ﬂ'c{ DI Uh 'FIEE'IUf
fHaerr 5-

® Pure Competition/ fagIs wfaaifmar
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® Perfect Competition/ ot Ufemfirar
® Imperfect Competition/ 3Iqul UfeaifiraT
® Monopoly/ THIUHR

Correct Answer :-Imperfect Competition/ 3qul wfaaifirar

93)
Question Stimulus :-

Who is the founder president of BRICS bank head quartered at Shanghai/ QT‘EI1§ Rty fyow o & IUS
e P 82

® K. V. Kamath/ *. 9Py
® Arundhati Roy/ 3¢ 31T
® Chanda Kocher/ Tl SR
® U.K.Sinha/ g,&.fRgT

Correct Answer :-K. V. Kamath/ &.3d.®HY

94)
Question Stimulus :-

‘Zero defect and zero effect’ is related to-/ [ 3T 3R T U TR 3-
® ‘Make in India’ programme/ e Rl 3‘%’&1’ FTdwH I
® ‘Make for India ‘ programme/ ‘I BR 3fear sriwd I
® ‘Swachh Bharat Abhiyan’/ ‘T3 HRd YA’ §
® ‘Kaushal Vikas Yogna’/ ‘&g faer T

Correct Answer :-‘Make in India’ programme/ ‘A 5l '&"%TIT' PTdHH I

95)
Question Stimulus :-

Who is the Vice-chairman of NITI Aayog?/ Hfa MRt & IuTeme S % ?
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® Arvind Panagariya/ 3Rfd~ UTIfedr

Bibek Debroy/ fad® daria
® B.B. Bhattacharya/ 'cﬁ.iﬁ.‘l-@?mf
Arvind Subramanian/ 3Rfa= geafa=

Correct Answer :-Arvind Panagariya/ 3Rfd~ UTIfedn

96)
Question Stimulus :-

India’s bilateral trade with China in 2014 remained to the tune of /2014 T 99 & 91Y HRd BT
fRueia =R fPam veT @

® $65 billion/ 65 3R BT
® $70 billion/ 70 3RT JTeR
® $ 80 billion/ 80 3R BTeIX
® $85 billion/ 85 3R BT
Correct Answer :-$ 70 billion/ 70 3R9 STeR

97)
Question Stimulus :-

Base year for the estimation of national income has been changed from-/ IP1F 34 & 3Tha- & forg
SATYR T4 ¥ uiafda & fear T 81

1999-2000 to 2009-10/ 1999-2000 ¥ 2009-10

2004-05 to 2009-10/ 2004-05 ¥ 2009-10

2004-05 to 2011-12/ 2004-05 ¥ 2011-12

2004-05 to 2012-13/ 2004-05 ¥ 2012-13

Correct Answer :-2004-05 to 2011-12/ 2004-05 ¥ 2011-12

98)
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Question Stimulus :-

The size of the Indian economy in 2014-15 was:/ 2014-15 ¥ YRdg srfeaayr &1 PR o:
« Rs.126 lakh crore/ ¥.126 WRE $RIS
® Rs.175 lakh crore/ ¥.175 < 39_33'
® Rs.180 lakh crore/ ¥.180 TR HRAS
® Rs.200 lakh crore/ ¥.200 <TG 39_\'-13

Correct Answer :-Rs.126 lakh crore/ %.126 WW

99)
Question Stimulus :-

Gross NPAs of the public sector banks are to the tune of at the end of March 2015/ AT 2015
& 3id A Oduf® 83 & dF! 1 e a R-Furea nfiwar e o

e Rs 2.67 lakh crore/ %.2.67 FIT@H'TQ—&'

« Rs. 2.85 lakh crore/ ¥.2.85 @@ RIS

e Rs. 3.12 lakh crore/ %.3.12 FI'IEH’T@E

« Rs. 3.54 lakh crore/ ¥.3.54 @@ RIS
Correct Answer :-Rs 2.67 lakh crore/ %.2.67 < ﬁ"&'

100)

Question Stimulus :-
Ogive curve is used to identify the / GﬁTrl'IEH CEQ G| ﬁﬂ%‘d PP ﬁ'l'l'{ Ugdd far smar %

® Mean/ HTHH

® Median/ HH®BT

® Mode/ 9gd®P

® Harmonic Mean/ 8TH® AT

Correct Answer :-Median/ HH®T
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